
Igualdades (C)Halle los valores de cada incógnita.
7 + 2 = ∇ + 7 0 + 5 = ⍟ + 1
9 + 3 = 9 + ♠ 9 + □ = 9 + 9
4 + 6 = 5 + ∆ 5 + 9 = ◊ + 7
3 + 2 = 5 + ⌷ 3 + 9 = ⌓ + 3
2 + 1 = ⧉ + 1 4 + 5 = ⧉ + 9
2 + 9 = 9 + ⧉ ⌓ + 1 = 1 + 1
0 + 9 = ⦿ + 9 ▭ + 0 = 4 + 0
0 + 3 = ⟣ + 1 ▭ + 9 = 9 + 8
⨳ + 0 = 1 + 5 ⊙ + 8 = 5 + 3
5 + 8 = 8 + ⟣ ⍟ + 5 = 5 + 3
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Igualdades (C) RespuestasHalle los valores de cada incógnita.
7 + 2 = ∇ + 7 0 + 5 = ⍟ + 1∇ = 2 ⍟ = 49 + 3 = 9 + ♠ 9 + □ = 9 + 9♠ = 3 □ = 94 + 6 = 5 + ∆ 5 + 9 = ◊ + 7∆ = 5 ◊ = 73 + 2 = 5 + ⌷ 3 + 9 = ⌓ + 3⌷ = 0 ⌓ = 92 + 1 = ⧉ + 1 4 + 5 = ⧉ + 9⧉ = 2 ⧉ = 02 + 9 = 9 + ⧉ ⌓ + 1 = 1 + 1⧉ = 2 ⌓ = 10 + 9 = ⦿ + 9 ▭ + 0 = 4 + 0⦿ = 0 ▭ = 40 + 3 = ⟣ + 1 ▭ + 9 = 9 + 8⟣ = 2 ▭ = 8⨳ + 0 = 1 + 5 ⊙ + 8 = 5 + 3⨳ = 6 ⊙ = 05 + 8 = 8 + ⟣ ⍟ + 5 = 5 + 3⟣ = 5 ⍟ = 3MatesLibres.Com


